1.

123 x 274 o
.2
- 32 9] ghe?

@ 2 @ 4



=

% 87 e ALY

oo
ﬁ

@ -3 279 AlAlELolt

@ 819 UAlFT2 3,-3,3i, -3io|t}.

® -V81=-3
@ v-16=-2

©® V-64=-4



3.

Va+ VI x V5 - V3x V8-& i

D1 @ 2 @ 2



?(Fa>0,a#1)

@ 16 ® 17 @ 18 ® 19

D 15



Oha BH7JolA &2 A& 57 28 A2?

@m:Q% @ 2 2\/522

© 3 x(3¥2%) =9

© O @ 6.0 ® @.®
® 6.6 ® 6,0.6



6. a=>5x720"Y o, 27 gof T3t A o2 LJERYH?



® A<B<C

@ C<B<A

@ B<A<C

® C<A<B



8. A% A= 1V5v2 B= V235, ¢ = ¥10249] dATAS ut27
reha R 2

O A<B<C @ A<C<B ® B<A<C

@ B<C<A ® C<B<4A



1 -3
93.8173- (7>
3

9. P — ol dlel VPl 3L

® 349 @ 93 ® 99 @ 9v27 B 81



10. x-y=2,2"+27 =59 o, 8" + 87 2] gt&?

@ 61 @ 62 ® 63 @ 64 ® 65



11. x>00)F x+x 1 =34 wf, x5 + x3 9] ZHe?

O V5 @ 25 ® 35 @ 45 ® 55



12. x¥ 4+t =39 W), 22+ x20] G FotE?

O 33 @ 36 ® 43 @ 47 ® 49



13. x>0012 2+ x2=7L 0, (x2 +x72)(x+x71) 9] Fe?

O V7 @ 25 ® 35 @ 37 ® 73



14. px3* =1, ¢gx3 =14 1, o=

ehd 20

©) 2pq

@ 8pg

® pq

1 2x-+y
= (7> = p, g2 HIEA



o

ol

ol

4T

H719]

s

no] 2070 A o, A5 Al o

n&= 71=2mH?

15.

—{Foltt,

V=5

o o,

<

@ nol &

_50]tt,

/5y

© nol A4 o,

® 0,6 ® 06 e

ORONG)

® 0,6,

@ 0,0



16. ohe 17 % §2 AL

Xl
@ -89 AAFZE2 V-8°|tt.
© V/(=3)*=3°]t.
© a<0 <™, (Ya)?=aolth

® nol 2 o14el 44w, A% oo dte] v = 2
G she A4 1 174

@ a<0 g, Vat+ {/(=a)® =0 oJT},
O 9.0,6 ® 0.0, ® ©.6.e
@ 0,6, ® ©.e.0




17. A= Y7143+ V7T-4v3o] distel [24) o] @& Fatodat. (=,
] xETH A e Hrje] Fooltt)

D
3%



18.

a+a2+a3—|—a4+a5+a6
a—4+a—5+a—6+a—7+a—8 +d_9

O & @ o ® al



19.

ax+a2x+a3x
— )]
asx =3+ \/g% EH’ a—x+a—2x+a—3x

ol okl 100m + n 0] & Fokoleh (&, a >0, me G2, yil
sa]4e0let)

5 J=X
=%

=m+ Vns WHEZSt=m, n



T

umO

o

=

<
BN
=

I

g

[a\|

—

I

S

S

I

0

S

5

L

1jo

=

“W

Q

< o
+ 0
S ﬂ_m

¢ =
0 O

OL =

A
o] Lm.o

‘O| -
—

S

2

® 2



